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1. (1) Describe the “complete response™ of a second order circuit?
{2) For the following circuit, L=1h,R=202,C=0.2F,
Ve(0)=6v, i {0)=2A, Solve V(t) and plot.
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2. (1) What is the definition of “pliasor?”
(2)We know [s=10e",0=2, find the output voltage %4(t) of the circuit;
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3. (1) What is a “Thevenin” and “Norton” Equivalent circuit?
(2) Try to find the Thevenin and Norton EQ circuit.
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4, (1) What is the meaning of “RMS” value?
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Current { is periodic as shown above, Delermine
the rms value {(effective value) of current i. What
average power will this current deliver to a 12-0}
resistance?




